SHAFE INZAES
() I&Rm%E
SN= FHEE MR REEE MR =
RIEEEMS| 889,780 889,780 889,780| 889,780|pIFEEHE
T 1,141,720{ 1,141,720 1,141,720| 1,141,720\ f4EE i B A 0E R tE
5,350 5350[25 7> ROl 7kahibic £ 2ES
BT Bh & 250,000/ 250,000 250,000| 250,000|SFI4FE I BE SR HEERBI &
_a_%LIRJ\k 144.880 134,880 151,380 134,880 gljfﬁfﬁﬁsﬁﬂﬁ \ \
(XfFE%) 10,000 16,500(3: 3 & L ISIEERMAE (35 & Emfkf)
78,605 78,605 |BIFEiRHE
TN 110,000 130,150|=v =45y £IF
(BEEE) 203,620 15,015 226,875 18,1107 I NERERFF A
10|F] &
= 2,630,000| 2,630,000| 2,665,105| 2,665,105
S H DI
SN= FHEE MR REE MR =
B S @Ak 580,000 50,000 731,417 3,950[Bh A Xk ib
= (A260,000) BT = 7 F 7 T EIRMS 3,950
400,000 566,400|EmiEAE
(A\200,000) FHEESE 550,000
AU ETE 16,400
100,000 89.099|7 7V RaALT7 k&
B ESRIIBE AR 3,190
[& - ShEf 45,500
BE - PR 40,409
30,000 48.318|7 77 7 BRI
(A\30,000) BbH Ut 14,439
BER 33,879
(A\30,000) 23,650|AED L v R
BET 840,000 840,000 731,417 731,417
SN= FHEE MR REE MR =S
B IR 650,000/ 350,000 555,682 334,407|=>v =771 - BRl - A<
= —r =y 0fE - ERHb 248,720
—vZoxy ME 55,642
BE - BFRK 30,045
150,000 93,510 |HHEHD - BHEMME Y LT R
AR 15,275
HHEMMEE Y TR 54,000
By omMmIBSRN 24,235
100,000 85,500 [1Ez£ 4!
20,000 20,005|TE DEfh
30,000 22,160| BB = b E MM
650,000 650,000 555,582| 555,582

4




() RA%E

BB FHEE AIER R Az W E
HIEUEML | 450,0000 150000  228,472|  56,290[MIE A N> N EEHE
= (A160,000) (A90,000) EinERMAD Y 7 27,390
NNKAFEBRBA > TF VX 28,900
50,000 99,082[7 VA AA NI Z— 5
(A\50,000) AN IF— a3 v HRR 76,642
BE - 558K 22.440
100,000 73.100{7 77> FaL7ke
B SR E A R 3,190
& - SIEfth 69,910
150,000 o
(A120,000) OfRETER
290,000| 290,000 228,472 228,472
BB FHEEE AIER R AIER W E
IFEb = 950,000 10,000 720,554 2,640\ B 8% 72 & Y EDRIA
(A100,0000[ 180,000 186,842 EFEm M
40,000 34,106 |@1E B E (EFEEN)
40,000 30,604 | @158 E (FiER)
156,000 156,000 |10 \2 ZEEE Y Bhok B
50,000 0| Hhig BB &
30,000 19,333|25%E BHER
100,000 135,050|fEmBAE
TLE 44,300
TANYLART T - <47 90,750
30,000 4,320|1%B%} 75 7 v KON 7 KRERER
132,000 151,659| Fiw&
S ERMTAY X i 73,559
AT S 56,100
X (A 22,000
850,000] 850,000 720,554 720,554
#wast | 2,630,000] | 2,236,025
N X HHAEE =L3l&
2,665,105 — 2,236,025 = 429,080
FEMIMX BBRES E-p o
=&




